Tuesday, May 15" 2007 Name:
Exam #2

1. Name the following molecules:
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2. Circle all the chiral carbons in question 1.
3. Suppose you were performing an esterification reaction with acetic acid and 2-
butanol.
(a) What is the name of the ester produced?

(b) What catalyst is needed to speed up this reaction?

(c) List ALL the things you could do to the equilibrium to favor the
production of more ester.



4. Complete the following reactions:
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5. Suppose you had a large carboxylic acid mixed with some neutral junk impurities,
neither of which were soluble in water. Suggest a method for separating out the
carboxylic acid from the undesirable impurities.

6. Explain in general terms how a racemic mixture is resolved.



Tuesday, May 15" 2007 Name: Z(c:w\
Exam #2 -/

1. Name the following molecules:

cl ‘ O =y

/2
g 4 GP{ B \;\Ng‘{ \ }W
B~

Aoty -3 S,J;M.'nQ,

< <
Qt ‘(?"“’}*’F’c‘d\wa ""‘f"?)‘@”fo\ "'3 "“"-'ho\ /\ ‘_odh’\\ "\"h’“‘
é( ( *OQ; brovae = Xf—o&mno\ ~3 ~\erame e
B AP R
C. - O P
( O 2L - kn+<+,)b\ -3 —d’b\ +’\~J - 5" (' * wh»;-,‘,’fb\
J""O\’\(C fo ’2’(.»""@0) rMh"')\.C .‘c.rJ 2 “"Nown&wne
Yenrorc acih cHy

RN
3/\1‘;( “H

oW /;NP

s dec
C(‘J(Jb\‘\e ya\ ?L\Q'O\ .dn-{f\ Q,-’?"‘df\ln.\,-(ﬂcmo) _-?.‘pt —d"*"*b_‘ ,Q— < th_
| 0‘(“6, \ nd \ﬁ""“‘k— M\z‘d"““\o‘ﬁ‘\ o c.m—.')e..
ﬂcl).? 0 ) P

2. Circle all the chiral carbons in question 1.

3. Suppose you were performing an esterification reaction with acetic acid and 2-
butanol.
(a) What is the name of the ester produced?
)
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(b) What catalyst is needed to speed up this reaction? L+

(¢) List ALL the things you could do to the equilibrium to favor the
production of more ester.
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4. Complete the following reactions:
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5. Suppose you had a large carboxylic acid mixed with some neutral junk impurities,
neither of which were soluble in water. Suggest a method for separating out the
carboxylic acid from the undesirable impurities.
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6. Explain in general terms how a racemic mixture is resolved.
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Tuesday, Nov. 3", 2009 Name:
Exam #2

1. Name the following:
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2. For all the molecules in question 1, indicate the number of chiral carbons.



3. Complete the following reactions:
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4. Consider the molecule ethyl methyl amine.
(a) Draw an isomer that is more basic:
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(b) Draw an isomer that is less basic.

5. Consider the molecule 3-chloropropanoic acid.
(a) Draw an isomer that is more acidic.

(b) Draw an isomer that is less acidic.

6. What is the difference between...
(a) Constitutional isomers and stereoisomers

(b) Enantiomers and diastereomers

(c) Enthlapy (AH) and activation energy
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2. For all the molecules in question 1, indicate the number of chiral carbons.
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3. Complete the following reactions:
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4. Consider the molecule ethyl methyl amine. ”
(a) Draw an isomer that is more basic: ¢ f Nig CM)
e

(b) Draw an isomer that is less basic.
VA NH,

5. Consider the molecule 3-chloropropanoic acid. ¢\
(a) Draw an isomer that is more acidic. 0
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(b) Draw an isomer that is less acidic. 1
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6. What is the difference between...

(a) Constitutional isomers and Stereoisomers(”\ ‘ 3
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(c) Enthlapy (AH) and activation energy
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2. For the molecules in question 1, indicate the number of chiral carbons.



3. Complete the following reactions:

o
kN C)\/'Lct( ‘

o}

oy — K

LeAH
/\(\)/M T

)
> Q)\o/k/

o V)

/Vu\ou —> A

4. Imagine a molecule that had four chiral carbons adopted the RRSR configuration.
(a) What is the enantiomer?
(b) List ALL the diastereomers of this molecule.

5. Enantiomers generally have identical properties, with what two exceptions?

6. How are oxidation and reduction defined in organic chemistry?

7. Isomers are broadly split into two categories. What are they? One of these categories is
further split into two more categories. What are they?
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2. For the molecules in question 1, indicate the number of chlral carbons.
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3. Complete the following reactions:
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4. TImagine a molecule that had four chiral carbons adopted the RRSR configuration.

(a) What is the enantiomer? S5
(b) List ALL the diastereomers of this molecule.
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5. Enantiomers generally have identical properties, with what two exceptions?
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6. How are i)xidation and reduction defined in organic chemistry?
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7. Isomers are broadly split into two categories. What are they? One of these categories is

further split into two more categories. What are they?
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